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Resolver las EDP siguientes:

1.

EDP ut = uxx

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 0

CI u(x, 0) = 1 (0 < x < 1)

2.

EDP ut = uxx

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 0

CI u(x, 0) = x2 − x (0 < x < 1)

3.

EDP ut = uxx

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 1

CI u(x, 0) = x2 (0 < x < 1)

4.

EDP ut = uxx − u
CC u(0, t) = 0 (0 < t < ∞)

u(1, 0) = 0
CI u(x, 0) = sin πx− 0,5 sin 3πx (0 < x < 1)

5.
EDP utt = c2uxx (0 < t < ∞)

CI u(x, 0) = exp(−x2) (−∞ < x < ∞)
ut(x, 0) = 0

6.
EDP utt = c2uxx (0 < t < ∞)

CI u(x, 0) = 0 (−∞ < x < ∞)
ut(x, 0) = x exp(−x2)

7.

EDP utt = α2uxx

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 0

CI u(x, 0) = sin 5πx (0 < x < 1)
ut(x, 0) = 5πα sin 5πx

8.

EDP utt = α2uxx

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 0

CI u(x, 0) = 2hx (0 < x < 1/2)
u(x, 0) = 2h(1− x) (1/2 < x < 1)
ut(x, 0) = 0 (0 < x < 1)
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9.

EDP utt = α2uxx − βut

CC u(0, t) = 0 (0 < t < ∞)
u(1, 0) = 0

CI u(x, 0) = 2hx (0 < x < 1/2)
u(x, 0) = 2h(1− x) (1/2 < x < 1)
ut(x, 0) = 0 (0 < x < 1)

10.

EDP utt = α2uxx − βu
CC u(0, t) = 0 (0 < t < ∞)

u(1, 0) = 0
CI u(x, 0) = 2hx (0 < x < 1/2)

u(x, 0) = 2h(1− x) (1/2 < x < 1)
ut(x, 0) = 0 (0 < x < 1)


